1.4 Geometry.notebook September 06, 2016

1.4 Measure and Classify Angles

Goal: Name, measure, and classify angles.

Obtuse

Acute
A pan Eol Right Straight
Angle - union of two rays with the same endpoint
* the rays are the sides of the angle and the
endpoint is the vertex of the angle
vertex: M|
D —
—>
sides: mp MP
M name the angle: Z pmP
P LPmD

LM

LPmD enaP°3’\+ = M = verdex
flp)ﬂmp Sides - MP

=MD
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How many angles in the figure below? Name them.

Z WXY
L WX2Z

L X2

You should not name any of these angles ~ X because all three angles
have X as their vertex.

* the measure of an angle is the openness of the interior
of an angle in degrees °

A point is in the interior
Interior / Exterior of an Angle ~ Of anangleifitis
between points that
lie on each side of the
angle.
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* a protractor can be used to appyoximate the measure of

an angle
Words The measure of ~ WXZ is 32°

Symbols m~s WXZ = 32°

63°

™\ 90°

117°

TN 180° 0°

LARe el CBA B '

A

* Two angles are congruent angles if and only if they have
the same measure.

msA=m<LB ZA=/B
. o

“is equal to” “is congruent to”

i Angle measures are equal. Angles are congruent.
A
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Angle Bisector - is a ray (line or segment) that divides an angle into
two angles that are congruent

SP [+ ANG (<

a ha ( ‘C 7
1’4
Q 62° 50 P
62 ,
\K_/\/ . %0
R
VR bisects ZPVQ.
—_— X
In the diagram at the right, YW bisects 12°
£XYZ, and mZ XYW = 18° Find m £ XYZ. Y 2w

3¢’ 7
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straight = [3¢°

Types of Angles
SR
- — / BAC
Zero = O A R ¢
acute less 4han QO Zs
right = F0° L

obtuse Precter then 10°

o,

A/ AL \A y
Angle Addition Postulate -
A
3
|
2
X > ¢
LAXRHRXC =¢AXC |
A b C
/ an +BC=AS
.‘ -(_ Ll D - D
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adjacent angles - 2 angles that share a common vertex and side,
but have no common interior points

hes

ab_',aun't:

next o

LRAC

- GQf= ng-\- + e«cL\ 0'\""91‘

(cAD

- Share a Commgn Side ™ P Sadenoe

(2x + 100 .
S\

Given that m2 LKN = 145° find m. LKM and m .~ MKN.

\(L_ -7 -7
AN €x= 138
MmCLEM = Ax+10
= AUBHO
?‘7/64_/())- M(M/c/\hklx_
<56 T9YQ3)-3

MLLEM + ML M) =m L LEM
AXHO0 + Hx- = |4

- Y2~
:g?o 3
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Given that £ KLM is a straight angle,
find m« KLN and m~Z NLM.

N
(10x — 5)5/(4x + 3)°

R H(‘B)L;.“sc- Sﬂ,,; \Ox-5 Fx4>= %0
[WLM=ss TP
IO0)- S=\2% Tiux= 18

= Uyx Y%
ALV =Y5 o

Given that £ EFG is a right angle,
find m« EFH and m £ HFG.

0"
. c?wzn P LEFH = Q.49 CHFC= w4
4 (x+1° %0 - :&(Z\)-I-Z =2“+‘
F G - §84+2 — e
- o < 6o’ - 30
Ax+24X+| = 90
Ix+3= 40°
"3 -3
e
3 3

X< 2%
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HW: Pg 28 #'s 1-31, 33-42, 48, 51-54
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